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=1 SRR RN TE B 409 441 850 233 240 473 56.97 54.42 55.65
=%2 SF AR T 488 503 991 283 280 563  57.99 55.67 56.81
=¥%3 SRAI2 ST A — (SRBHVAEE) 661 765 1,426 386 421 807  58.40 55.03 56.59
=4 =MLY 2 — 1 132 148 280 88 101 189  66.67 68.24 67.50
=5 FRMaS2=T e — (RASO R —) 1,226 1,303 2,529 675 707 1,382 55.06 54.26 54.65
=6 EWR R R 2 — 1 a e — 1,113 1,257 2,370 633 683 1,316 56.87 54.34 55.53
=7 SRR FTALE 1 e — 703 838 1,541 438 515 953 62.30 61.46 61.84
=& +Hfi6X AR 801 935 1,736 428 492 920  53.43 52.62 53.00
=9 Rt (CREFETFEN) 900 1,046 1,946 500 565 1,065/ 55.56 54.02 54.73
=10 IR S HU VR — L 1,265 1,297 2,562 729 735 1,464  57.63 56.67 57.14
=11 PUts B hE 233 240 473 140 154 294/ 60.09 64.17 62.16
=%k12 JAZ KRG HR i 1,110 1,222 2,332 628 677 1,305  56.58 55.40 55.96
=¥%13 WEIS =T L — 729 732 1,461 421 415 836  57.75 56.69 57.22
=%14 F a2 =T ¥ — 177 183 360 112 111 223 63.28 60.66 61.94
=¥%15 A AR 71 78 149 53 54 107|  74.65 69.23 71.81
—¥&16 ARa2=F & — 170 176 346 99 116 215  58.24 65.91 62.14
=17 IWF X A2 =T e H— 107 149 256 67 65 132]  62.62 43.62 51.56
=¥%18 TRV S HE 102 107 209 68 62 130|  66.67 57.94 62.20
=¥%19 B/ N BN TE R 315 358 673 176 191 367  55.87 53.35 54.53
=20 TR ST 159 178 337 87 77 164|  54.72 43.26 48.66
=21 MPFTEE T 64 71 135 40 46 86/  62.50 64.79 63.70
=%k22 MR B bRk = 478 528 1,006 314 329 643 65.69 62.31 63.92
=23 HEARREE 56 55 111 44 47 91  178.57 85.45 81.98
=%k24 HEZala=F 14— 267 281 548 167 158 325 62.55 56.23 59.31
=25 T AR 272 274 546 161 145 306/ 59.19 52.92 56.04
—&k26 fAaR2=T 2 — 352 375 727 233 239 472 66.19 63.73 64.92
=W%k27 fMaza=F 1 #— 245 306 551 153 185 338 62.45 60.46 61.34
=28 JISE &t 177 205 382 118 131 249/ 66.67 63.90 65.18
=¥%29 I A R N TR ED 198 215 413 129 125 254 65.15 58.14 61.50
=¥%30 JH=m 2 =T 2 — 227 266 493 161 172 333 70.93 64.66 67.55
=31 RSB WEEE 115 120 235 86 84 170|  74.78 70.00 72.34
=¥%k32 NP2 =T e Z— 161 187 348 111 127 238  68.94 67.91 68.39
=33 HIRESTT 48 55 103 39 43 82  81.25 78.18 79.61
=34 ARG 74 74 148 49 42 91  66.22 56.76 61.49
=35 RS 70 79 149 50 51 101  71.43 64.56 67.79
=7k36 N2 57 68 125 49 54 103] 85.96 79.41 82.40
=¥%37 S H A S B 122 147 269 84 99 183]  68.85 67.35 68.03
=it 13,854| 15,262 29,116 8,232 8,738 16,970/ 59.42 57.25 58.28
FEH1 SRR WP 336 369 705 217 238 455 64.58 64.50 64.54
FH2 AR NS 68 88 156 46 54 100/  67.65 61.36 64.10
FH3 HEHEMES b5 — 88 80 168 65 49 114| 73.86 61.25 67.86
FH4 R HSRE 43 52 95 34 32 66/  79.07 61.54 69.47
EH5 RALE T 54 63 117 34 41 75 62.96 65.08 64.10
FHFEE 589 652 1,241 396 414 810/  67.23 63.50 65.27
Fiial BB S bW AE 111 127 238 81 81 162|  72.97 63.78 68.07
fi 52 A AEETE 42— 190 223 413 130 143 273 68.42 64.13 66.10
%3 i B R B T 207 205 412 125 120 245/ 60.39 58.54 59.47
A ¥4 RN T = AE 68 82 150 49 56 105/  72.06 68.29 70.00
A T 5t 576 637 1,213 385 400 785  66.84 62.79 64.72
EAR1 FEFEL HESET 65 92 157 48 68 116/  73.85 73.91 73.89
EAR2 FrILESTT 55 65 120 41 40 81  74.55 61.54 67.50
EAR3 I SR 40 43 83 30 27 57 75.00 62.79 68.67
fEA4 ALER RS SFEE T 39 46 85 33 32 65  84.62 69.57 76.47
EARS THEARMEGESE & — 98 101 199 65 68 133]  66.33 67.33 66.83
EAR6 VERTEHER 52— 81 89 170 51 52 103|  62.96 58.43 60.59
VERT = AT 127 144 271 86 102 188  67.72 70.83 69.37
VEARGT 505 580 1,085 354 389 743/ 70.10 67.07 68.48
H HERE 174 194 368 106 119 225 60.92 61.34 61.14
HE2 HERHRH— 326 397 723 208 231 439/ 63.80 58.19 60.72
HE3 HHAIZ =T (A — 140 158 298 92 108 2000  65.71 68.35 67.11
i EEEREVEW SN T % 58 72 130 35 39 74 60.34  54.17 56.92
Ha5 W AR P 148 175 323 82 102 184|  55.41 58.29 56.97
HE&6 oz =7 B H— 192 218 410 120 114 234/ 62.50 52.29 57.07
a7 Jr BRI 51 59 110 38 40 78  74.51 67.80 70.91
HES N2 =F 1 & — 157 190 347 88 101 189  56.05 53.16 54.47
H49 T K 2 NS 39 59 98 24 30 54/ 61.54 50.85 55.10
EH410 tEHFEE 81 82 163 55 51 106/  67.90 62.20 65.03
Exas! ST AR — 54 62 116 35 41 76/ 64.81 66.13 65.52
HaE 1,420 1,666 3,086 883 976 1,859  62.18 58.58 60.24
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ZRIK1 KRG A a=T 4 H— 164 167 331 112 109 221 68.29 65.27 66.77
—“ B2 IR =T B H— 170 175 345 125 112 237 73.53 64.00 68.70
= RIK3 HF BB 2 — 92 108 200 65 69 134  70.65 63.89 67.00
= R4 HOINEALE L Z— 654 714 1,368 388 428 816/  59.33 59.94 59.65
= RIK5 EHZ% B HE sk 81 98 179 53 66 119/  65.43 67.35 66.48
— RBIK6 ] .Stz 2 — 95 99 194 62 60 122]  65.26 60.61 62.89
= B 1,256 1,361 2,617 805 844 1,649  64.09 62.01 63.01
=1 blaa=F k& — 234 257 491 159 159 318 67.95 61.87 64.77
=Fn2 By =T A — 269 286 555 166 175 341 61.71 61.19 61.44
=fn3 WA 2=T 4B H— 333 369 702 221 232 453 66.37 62.87 64.53
=Fn4 FHRAIZI2=T L2 — 264 328 592 151 173 324 57.20 52.74 54.73
—FnEt 1,100 1,240 2,340 697 739 1,436 63.36 59.60 61.37
i =R R BT 474 582 1,056 319 358 677 67.30 61.51 64.11
g2 INEAZa=T R H— 213 233 446 137 136 273 64.32 58.37 61.21
a3 T AT WAL SRR 124 149 273 81 96 177/ 65.32 64.43 64.84
g4 Hlasa=7 1L #— 96 121 217 67 75 142 69.79 61.98 65.44
G 907 1,085 1,992 604 665 1,269  66.59 61.29 63.70
&t 20,207 22,483 42,690 12,356 13,165 25,521| 61.15 58.56 59.78




